


N = 0l & AF & F Al A

SN Eae
M3 =0l OE AHIA RHIZ(RA)
ool EEXQ ANH 2Y (el &2
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 )= e B2
o1 562,048 562,460 A412
o O AHIA RIZ(EAS) 147,345 147,585 A240
SEX0 HNY 2Y 147,345 147,585 A240
ITAE U BUSABL(RL) 35,797 36,087 ~240
201 Lty 31,531 31,771 A240
01 Attt 0 240 A240
osnaig 0 240 A240
~SHRAN 3 0 0 120 A120
M EH ST 25 0 0 120 A120
DIBOIEA XL (R4S 282,500 282,500 0
REYS NANL(HEH) 282,500 282,500
ARE FOISRAY(REH) 282,500 282,500 0
401 AlAHIL 20| 282,500 282,500 0
01 Al&H] 282,500 282,500 0
OBIZ AT =2 ZF(160m)
3T 19,951,0402 19,952 20,000 :
Ool% MYZSTF(110n) HF 18,207,009 18,298 20,000 A1,702
O B2 &% (80n)  HF 14,265,0409 14,266 15,000 ~734
OXNZ~822 2 L (160n)
43 19,730,790 19,731 20,000 A269
OXU ARSI (1H4)  HH 9,228,008 9,228 10,000 ATT2
OS8 UE S2ZH(130m)
AT 24,691,3802 24,692 25,000 £308
O2E S2EF(40n) AN 9,622,8208 9,623 10,000 AB7T
O2IA =2 I = (180m) A 24,308,000% 24,309 25,000 £691
OZE =2 T (150m) AT 19,814,0002! 19,815 20,000 A185
01g 770 SEE(120n)
AT 13,995,6109 3,996 15,000 A1,004
OSIN @EBS2 T (100m)
3F 9,667,502 9,668 10,000 A332
O MNYZEH(100m)  HH 9,460,8209 9,461 10,000 A539
OARE BIHAIS2EF(250m)
AT 29,124,760 29,125 30,000 A8T75
OFEHS HEDEX (14) A% 6,115,2002 6,116 6,600 ~484
oAl SRIE(50m) 2 4,650,0002 4,650 5,000 A350
OBI= 201 DA (14]) AT 1,496,0002! 1,496 1,500 A4
OstE B H=(40m) 8,674 0 8,674
e A (240 132,203 132,375 ATT2
B (BLS) 51,355 51,507 AT2
JI2BH(BES) 51,355 51,507 A1T2
201 L2y 25, 155 26,327 A1, 172
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